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(22) BB | oap BETE AR | com o) | BB . BEMEl BB |, BESK BB |, BESE
ABR EN:) ABR BH ABR N ABR E:)
o | C D E F G Ho|Bsa| B2 1 J K |1-cid D K/E

HEEHLE 91,097 91,990 71,397; 9,711 9,290 507 5i 1,080 98.3 99.4| 70,778; 9,583: 8,920 612 127 119 0.9 1.3 1.3
=3 | 66,137 67,471 52,223; 6,182; 7,688 379 - 999 98.0 99.4| 51,763; 6,085; 7,338 453 96 102 0.9 1.6 1.3
W B &R 24,836 24,389| 19,073: 3,509: 1,597 125 4 81 99.1 99.5| 18,914: 3,478: 1,580 159 31 17 0.8 0.9 1.1
5 & 124 130 101 20 5 3 1 - 96.9 97.7 101 20 2 - - - - - -
F & MK 575 453 345 104 2 - - 2| 99.6] 100.0 342 102 2 3 2 - 0.9 1.9 -
ok x| 1,875 1,744 1,414 144 173 6 - 71 99.3]  99.7 1,405 143 168 9 1 5 0.6; 0.7 2.9
P x| 2,332 2,008] 1,815 157 36 - - -| 100.0| 100.0| 1,803 155 36 12 2 - 0.7 1.3 -
wom K| 2,163 2,316] 1,936 95 163 7 - 115 94.7|  99.7| 1,915 94 162 19 1 - 1.0 1.1 -
x om K| 1,810 1,771 1,487 151 123 8 - 2] 99.4]  99.5] 1,478 150 123 9 1 - 0.6 0.7 -
& #® x| 1,411 1,379 1,117 171 86 5 - -l 99.6] 99.6] 1,109 171 84 8 - 2 0.7 - 2.3
= om x 2,113 2,289 1,344 617 76 2 -1 250  89.0] 99.9] 1,331 614 74 13 3 2 1.0i 0.5 2.6
T O K| 3,680 3,809 3,296 320 179 13 - 1| 99.6] 99.7| 3,265 319 176 31 1 3 0.9 0.3 1.7
B K| 3,368 3,217 2,714 209 315 21 - 18] 98.8] 99.4| 2,677 200 307 37 9 8 1.4i 4.3 2.5
El x| 2,129 1,980 1,652 93 222 12 - 1 99.3] 99.4] 1,641 93 217 11 - 5 0.7 - 2.3
KW X[ 4900 5,055| 3,511 506 764 30 -1 244 94.6| 99.4| 3,485 491 508 21 14 9 0.6 2.8 1.2
i mos x| 6,216 6,140| 4,163 501: 1,447 25 - 4] 99.5| 99.6| 4,123 496 1,427 40 5 20 1.0 1.0 1.4
BOA K 1,758 2, 100 656 62 1,284 68 - 30 95.3]  96.7 652 60 1,274 4 2 10 0.6 3.2 0.8
fom k| 2,262 2,457] 2,199 121 131 5 - 1| 99.8] 99.8] 2,182 119 129 17 2 2 0.8 1.7 1.5
¥ W K| 3,950 4,068 3,419 363 271 9 - 6] 99.6] 99.8| 3,391 362 267 28 1 4 0.8 0.3 1.5
- 1,854 2,127| 1,664 96 102 4 -1 261 87.5| 99.8] 1,641 96 99 23 - 3 1.4 - 2.9
Ik x| 2,379 2,428| 1,619 633 161 15 - -l 99.4] 99.4| 1,608 613 158 11 20 3 0.7, 3.2 1.9
=K 1,534 1,115 1,078 37 - - - -| 100.0| 100.0| 1,075 37 - 3 - 0.3 - -
Wo#E %] 3,392 3,433| 2,756 232 422 19 - 4] 99.3]  99.4| 2,719 227 417 37 5 5 .35 2.2 1.2
WO x| 5,104 5,622| 4,745 488 369 20 - -l 99.6] 99.6| 4,694 476 364 51 12 5 1.1 2.5 1.4
B X[ 3,99 4,112] 2,820 410 836 - - 46| 98.9] 100.0| 2,805 408 827 15 2 9 0.5; 0.5 1.1
® oM x| 2,916 3,154| 2,704 174 227 46 - 3| 98.4] 98.5] 2,683 171 223 21 3 4 0.8 1.7 1.8
TE I X 4, 426 4,634] 3,769 498 299 64 - 4]  98.5| 98.6| 3,739 488 296 30 10 3 0.8; 2.0 1.0
INEE 2, 748 2,838] 2,200 355 237 8 2 36|  98.4] 99.7| 2,181 355 234 19 - 3 0.9 - 1.3
s | 1,134 1,126 1,008 46 65 4 - 31 99.4]  99.6 998 45 65 10 1 - .08 2.2 -
O % W[ 1,098 1,093 923 76 82 5 - 71 98.9] 99.5 914 74 82 9 2 - 1.0} 2.6 -
= JE W] 1,241 1,212| 1,091 61 58 2 - -l 99.8] 99.8| 1,074 60 55 17 1 3 1.6 1.6 5.2
GO W 522 424 342 82 - - - -| 100.0| 100.0 341 81 - 1 1 - 0.3 1.2 -
o | 1,577 1,606 1,318 153 119 16 - -l 99.0] 99.0| 1,308 151 116 10 2 3 0.8 1.3 2.5
wWoB W 756 769 695 43 25 4 2 -l 99.2]  99.5 689 43 24 6 - 1 0.9 - 4.0
oA W 1,590 1,625 1,499 100 22 3 - 1| 99.8] 99.8] 1,492 100 22 7 - - 0.5 - -
WM | 2,244 2,273| 1,490 678 91 14 - -l 99.4|  99.4| 1,481 673 90 9 5 1 0.6 0.7 1.1
N i 943 736 662 74 - - - -| 100.0| 100.0 660 74 - 2 - - 0.3 - -
AOSE [ 1,281 1,035 805 230 - - - -| 100.0| 100.0 795 225 - 10 5 - .28 2.2 -
A% d| 1,181 1,210 780 237 185 6 - 2] 99.3]  99.5 766 232 184 14 5 1 .88 2.1 0.5
R L 872 931 775 70 68 9 - 9] 98.1] 99.0 770 69 68 5 1 - 0.6 1.4 -
E 4 55 i 918 739 689 50 - - - -| 100.0] 100.0 686 49 - 3 1 - 0.4 2.0 -
H S if 444 452 382 22 40 8 - -l 98.2] 98.2 379 21 40 3 1 - 0.8{ 4.5 -
[ 285 302 161 101 29 6 - 5/ 96.4] 98.0 159 99 29 2 2 - .28 2.0 -
oL 543 526 314 33 176 2 - 1| 99.4] 99.6 312 33 176 2 - - 0.6 - -
) PNt 495 450 330 22 90 8 - -l 98.2] 98.2 325 22 89 5 - 1 1.5 - 1.1
oW W 399 404 391 9 2 2 - -l 99.5| 99.5 387 9 2 4 - - 1.0 - -
AR K 650 674 580 26 59 3 - 6] 98.7] 99.6 579 26 59 1 - - 0.2 - -
A 1 401 398 217 77 100 1 - 3 99.0]  99.7 214 77 97 3 - 3 1.4 - 3.0
% 674 678 292 353 23 10 - -|  98.5| 98.5 290 353 22 2 - 1 0.7 - 4.3
oWl 665 664 410 214 34 5 - 1 99.1] 99.2 407 213 34 3 1 - 0.7; 0.5 -
PO 270 251 176 75 - - - -| 100.0| 100.0 175 74 - 1 1 - 0.6 1.3 -
b E D 376 426 363 46 14 3 - -l 99.3]  99.3 362 46 14 1 - - 0.3 - -
7 OB R | 1,303 1,320) 1,013 223 72 5 - 71 99.1]  99.6[ 1,004 221 72 9 2 - 0.9: 0.9 -
B RH O HT 131 144 94 43 6 1 - -l 99.3]  99.3 93 43 6 1 - - 1.1 - -
H o H T 71 65 57 8 - - - -| 100.0| 100.0 57 8 - - - - - - -
i 7 4 4 - - - - -| 100.0| 100.0 4 - - - - - - -
% EEHT 17 14 12 2 - - - -| 100.0| 100.0 12 2 - - - - - - B
KB HT 32 33 25 5 - 3 - -l 90.9] 90.9 25 5 - - - - - - -
BB 1 - - - - - - - - - - - - - - - - - -
o8B 10 12 10 2 - - - -| 100.0| 100.0 10 2 - - - - - - -
OH B R 12 13 10 3 - - - -| 100.0| 100.0 10 3 - - - - - - -
= £ 10 12 6 5 1 - - -| 100.0| 100.0 6 5 1 - - - - - -
O R R 1 1 - - 1 - - -| 100.0| 100.0 - - 1 - - - - - -
NS 31 36 36 - - - - -| 100.0| 100.0 36 - - - - - - - -
W oy &R 4 3 3 - - - - -| 100.0| 100.0 3 - - - - - - - -
N KA 23 20 11 5 3 - 1 -l 95.0] 100.0 11 5 - - - - - - -
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(:Il-M) M N o MeN+0/L P Q R PpoMiasNi R/O
ERER#BHLE 858 390 n 254 83.3 211 42 141 179 29 113 45.9 40.8 44.5
=4 &B 651 263 57 205 80.6 159 35 117 104 22 88 39.5 38.6 42.9
izl 2B il 207 127 14 49 91.8 52 7 24 75 7 25 59.1 50.0 51.0
=) &B - - - - - - - - - - - - - -
T | K 5 2 2 1  100.0 - - 1 2 2 -[  100.0: 100.0 -
ok X 15 3 - 4 46. 7 3 - 4 - - - B B -
W X 14 4 1 9] 100.0 4 1 4 - - 5 - - 55. 6
woom K 20 12 1 71 100.0 4 1 4 8 - 3 66. 7 - 42.9
xR K 10 6 - 3 90.0 3 - 1 3 - 2 50. 0 - 66. 7
v R X 10 3 - 3 60. 0 1 - 3 2 - 66. 7 - -
2 @m K 18 11 1 6] 100.0 6 1 1 5 - 5 45.5 - 83.3
TR R 35 17 2 13 91.4 11 1 8 6 1 5 35.3 50. 0 38.5
TS 54 31 5 9 83.3 20 3 5 11 2 4 35.5 40.0 44. 4
H B K 16 8 - 6 87.5 4 - 3 4 - 3 50. 0 - 50. 0
X B K 44 3 13 - 36. 4 - - - 3 13 -[  100.0{ 100.0 -
i om s K 65 11 1 53[  100.0 8 1 33 3 - 20 27.3 - 37.7
EOR K 16 - 1 9 62.5 - 1 2 - - 7 - - 77.8
O K 21 6 2 1 42.9 4 2 1 2 - - 33.3 - -
¥ W K 33 20 1 7 84.8 10 1 5 10 - 2 50. 0 - 28.6
m B ) 26 12 - 5 65. 4 4 - - 8 - 5 66. 7 -1 100.0
It X 34 12 5 14 91.2 8 4 9 4 1 5 33.3 20.0 35.7
=) K 3 3 - -|  100.0 - - - 3 - -l 100.0 - -
R S 47 25 4 17 97.9 17 3 5 8 1 12 32.0 25.0 70.6
HOBE X 68 32 6 10 70. 6 21 5 7 11 1 3 34.4 16.7 30.0
A 26 15 2 9] 100.0 14 2 9 1 - - 6.7 - -
WM X 28 11 3 5 67.9 6 3 5 5 - - 45.5 - -
oF I X 43 16 7 14 86.0 11 6 7 5 1 7 31.3 14.3 50.0
N E F il 22 15 - 2 77.3 2 - - 13 - 2 86. 7 -1 100.0
v )il T 11 9 - - 81.8 3 - - 6 - - 66. 7 - -
® g % o 11 3 7 90.9 2 3 1 - 4 33.3 - 57. 1
= & W 21 14 - 7] 100.0 10 - 4 4 - 3 28. 6 - 42.9
i il 2 - - 1 50.0 - - 1 - B - - - -
S i} 15 11 - 4 100.0 3 - 3 8 - 1 72.7 - 25.0
[ - 7 6 - [ 100.0 2 - - 4 - 1 66. 7 - 100. 0
L I E 1] 7 7 -[  100.0 2 - - 5 - - 71. 4 -
mroW 15 7 3] 100.0 1 3 - 6 2 3 85. 7 40.0;  100.0
AN & T 2 - 2|  100.0 - - 2 - - - - - -
N 15 12 3 -l 100.0 3 - - 9 3 - 75.0;  100.0 -
A i 20 12 3 5| 100.0 5 2 4 7 1 1 58.3 33.3 20. 0
R T 6 6 - -l 100.0 3 - - 3 - - 50. 0 - -
Sy SF T 4 3 - 1| 100.0 3 - 1 - - - - - -

ST 4 3 - - 75.0 2 - - 1 - - 33.3 -
wm kW 4 2 1 1 100.0 2 - 1 - - -1 100.0 -
pI5] ] 2 1 - 1| 100.0 1 - - - - 1 - - 100. 0
PN i 6 - - 6] 100.0 - - - - - 6 - - 100. 0
H M i 4 4 - -[ 100.0 1 - - 3 - - 75.0 - -
LW i 1 1 - -| 100.0 - - - 1 - - 100. 0 - -
v o ) 6 1 - 4 83.3 - - 3 1 - 1 100. 0 - 25.0
2 Wil 3 2 - - 66. 7 1 - - 1 - - 50. 0 - -
e Hk 4 4 - -| 100.0 3 - - 1 - - 25.0 - -
P ] 2 2 - -| 100.0 2 - - - - - - - -
b x 5B 1 - - 1| 100.0 - - - - - - - -
HOR R 11 2 2 2 54.5 1 2 - 1 - 2 50. 0 - 100. 0
Hi  f Wy 1 - - 1 100.0 - - 1 - - - - - -
A o I - - - - - - - - - - - - - -
i ) - - - - - - - - - - - - -
B % EE T - - - - - - - - - - - - -
X & - - - - - - - - - - - - - -
= T ) - - - - - - - - - - - - - -
= ) - - - - - - - - - - - - - -
Mo B O - - - - - - - - - - - - - -
= = N - - - - - - - - - - - - - -
O B A - - - - - - - - - - - - - -
NS - - - - - - - - - - - - - -
oy M - - - - - - - - - - - - - -
A R K - - - - - - - - - - - - - -
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BRH B 321 283 88.2 75 56 116 36
= B 214 188 87.9 45 36 82 25
M B # 107 95 88.8 30 20 34 11
5 i - - - - - - -
T K | X 4 4 100. 0 - 1 3 -
i kX - 1 - - - 1 -
s X 5 3 60. 0 1 1 1 -
Froom X 11 10 90.9 - 4 6 -
X o®m X 5 4 80. 0 1 - 1 2
7R K 2 - - - - - -
£ FH X 10 18 180. 0 6 3 8 1
LR K 12 10 83.3 2 3 4 1
i I X 17 18 105. 9 4 3 7 4
H 2 K 7 5 71.4 1 - 2 2
X H K 16 15 93.8 1 2 10 2
i B oA X 23 23 100.0 11 7 5 -
R X 7 7 100. 0 4 1 - 2
LA S 2 1 50.0 - 1 - -
2 K 12 10 83.3 2 - 6 2
g B KX 13 11 84.6 1 3 6 1
I X 10 9 90. 0 3 - 4 2
s )l X 3 1 33.3 - - 1 -
R & X 21 12 57.1 1 2 9 -
s K 15 10 66. 7 4 1 2 3
& A X 1 1 100. 0 - 1 - -
oM X 5 5 100. 0 1 - 3 1
oF I X 13 10 76.9 2 3 3 2
NEEE 15 14 93.3 9 4 1 -
Al il 6 3 50. 0 - - 3 -
® O o 5 2 40. 0 1 1 - -
= & W 7 7 100. 0 1 1 5 -
&M - - - - - - -
ot i 9 9 100. 0 4 3 2

I - il 5 5 100. 0 2 - 3 -
I 5 5 100. 0 2 2 - 1
MW T 11 10 90.9 - 1 1 8
NN ) - - - - - - -
] 12 11 91.7 4 2 5 -
H L] 9 9 100. 0 1 1 6 1
HOR b T 3 3 100. 0 1 1 - 1
Sy ¢ - - - - - - -
SET 1 1 100. 0 1 - - B
(I S 1] 1 - - - - - -
[ I i) 1 1 100. 0 1 - - B
;R o 6 4 66. 7 1 1 2 -
WO W 3 3 100. 0 - 1 2 B
N T 1 1 100. 0 - - 1 -
O A T 2 1 50. 0 1 - - B
% B 1 1 100. 0 - -
., 2] 1 1 100. 0 1 - - -
D I ] - - - - - - -
b E 5 Wi - - - - -
[ ] 3 4 133.3 - -
Bii R WT - - - - - -
H o i mr - - - - - -
[ - - - - - -
- ) - - - - - -
X & T - - - - - -
- ) - - - - - -
OB - - - - - -
o B A - - - - - -
= % i - - - - - -
WO B A - - - - - -
IN iy - - - - - -
H oy B - - - - - -
AN R R - - - - - -




